1 2 3 6 8 11 14

STk 204 @ H - FRERHILRGEE . ZMPF/LATRA

— FRERBUEIR LIRS E TR

1.

EWAE (X, y) =@ B — DB A X TAELS (xy) A M — z=2(x,y) % 2 7%

2
Fil 0z
@

Z+y) =y, JEH 2(xy) R C” ms, k&

Y PLK z(x,y) 7E (1,2) &b 1y

L1

Peano AT M Taylor 233X,
WHRE z=2(x,y) HHFExyz +X2 + Y2 + 2% =2 BT 2 2(1,0) = -1, K dz|(1,0) .

u=~f(xy,zt)
&Lg,mc%%ﬁﬁiggﬂ@,ﬂ@ﬁmmmwmﬁﬁﬁgw@ww Wi,
! h(z,t) =0

ﬁ%%ﬂ(ga.ﬁaﬁi&%]%i%u%%?ﬁﬁixy%%ﬁﬁﬁx%ﬁ@ﬁo
y X y

I AEAE Py(LL2) P 1 5 FE X%+ y? + 22 =3xyz Wi E T WA R R A y = y(x,2) . Xt

5 20 (%, y(x 2),2))

fX, 7 =X2237 .
(x,y.2)=xy ox lhrzt
B (0, y) R SRS — BT S — ST, SLBE (s, yo) S — Gt
8 Fxy) TERRIE K FF xR, (0, Y5) + YoF, 0 Y0) %0, L F(x0, %) =0 i

B BAFE F(x+uy ™ty +ux ) =0 7F £ (X, Yo) HI— MR _EME— Mg 7 — il 2

u(Xg, Yo) =0 M CHBE ki u =u(x,y)

= SRS FRILAA

6. SRAE T %
X = /2 cost
a)*%ﬁy:ﬁamEﬁMaA%QWW%\&ﬁﬁ\%wym
z=t
2 2 2 _@a_
Q)i%%{X+y;ZZ%OEﬁMm¢a%%w%ﬁﬁ
Z-X" -y =
. 2 2 . , 3X-2y—-z=5__,_ .
7. Skl s:2x? —2y* +2z=1 FYIPHISEHLL: X+ytz=0 TATHI D) R .

8.

UEMAERTH S, X + y? + 22 = R* HHE S, : x* + y* =a’2° IEXL.

1/2


Administrator
文本框
1、2、3、6、8、11、14

Administrator
文本框
两边求全微分，解方程


10.

11.

12.

13.

14.

CURINTT S 777 e = xy +yz+ 2x » RN S £ (L1, 0) AL VI T Hi 7R 25T S [ 5
RN z=1(xy), Kgradf (L1).

Eﬂme,ﬁ%%Ef@ 2ZEJO£EE~EmMW$EL s, kI
Sfir .

G TS R L A R R, SEONE, ARSI SRR ST E,

S H5FE ax + by + cz =G(X* + y? + 2°) #asE, WAEWT: phifi S _EAF— Sk 53
FLZEAHAT

3Xx—-2y-z=-15

HE#TH S : x* — y? + z =10 AHYIHF T 572
X+y+2z=10

Zkﬁiﬁé)%{

WEM: B DcR* & —ANMEFXE, Hz="f(xy)eC(D). M 1E it % & #

U=xcosf+ysing, v=—xsin@+ycosd F, FiLX f, +f, F&.

Mercator ¥ 52 5t [E|25H)

[ A S ER I PR AR E AR Y], ERC & B2 BRI b i S B B [ A 1 b, BR1 B2
BN R T b 2 BT RIE N B Lk, BRI B Ao R T b5 AR TE AT B R . A
[ — SR AL B IS 2P .

(1) R R e 5 OreE BRI i 2K R S bk EAHR dh 4 K RE ke ) 2
UM CRPHLPE Fp ak M 261k 1 5 e ATTEHLER Foof B 4R () R A 2

(2) WL EFER AT LA bbb B R A PR EE B PR A 2

212



